BEZEHEI1 (75K, E/F%)
a—b b—c c—a
b—c c—a a-—b»b
c—a a—b b-c

13 IERA =0

a—b b—c c—a
b—c c—a a-—b»b
c—a a—b b-—c

Prove =0

2 7 65
3 8 75
5 9 86

2 7 65
3 8 75
5 9 86

2.1 1EFA =0

Prove =0
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S=EHESI 1 (175, %)

3. IE R

1
Prove |1
1

TCLA

1 bc a(b+c)
1 ca b(c+a)=0
1 ab C(a + b)

bc a(b+c)
ca b(c+a)l=0
ab c(a+Db)

wla



BEEaHEI 1 (75, M)
b+c c+a a+b

S5.lc+a a+b b+c|=0RKiFBa+b+c=0,a=b=c
a+b b+c c+a
b+c c+a a+b

c+a a+b b+c
a+b b+c c+a

=0.Provea+b+c=0,a=b=c

cosa cosf

cosasinff —sina

6.3TE | —sinp cosf 0
sinacosf sinasinff cosa
cosacosfB cosasinff —sina

Evaluate | —sinf cosf 0
sinacosfS sinasinf cosa

3
TCLA



S=EHESI 1 (175, %)

a a? bc 1 a® d°
79800E8 b b2 cal=|[1 b? b3
c ¢ abl 11 ¢ 3
a a* bc| |1 a* o
Prove (b b* ca|=|[1 b*> b®
c ¢ abl 11 ¢ ¢3
a2 bc  ac+ c?
8. IEM |a> +ab b2 as
ab  b*+bc  c?
a2 bc ac + c?
Prove (a? + ab b? ac
ab b +bc  c?

TCLA

‘ = 4a2b2C2

= 4q2p?c?



S=EHESI 1 (175, %)

1 -1 1 x—yt+tz=4
9*%HA=<4—4 1)%&%%%%,*ﬁﬁﬁﬁﬁﬁ%x—w+z=7
1 2 -1 x+2y—z=1
1 -1 1
Find the inverse matric of 4 = (4 -4 1 ).Hence or otherwise, solve the simultaneous linear equation
1 2 -1
x—y+z=4%
{4x—4y+z=7
x+2y—z=1
2 1 1
9 9 3
E _E 1 Px:Z)y:Lz:B
9 9 3
4 1 0
3 3
1 a bc 1 b ca
10.3FRB|1 b cal=(a—b)(b—c)(c—a)iElLL, #EH|1 a bcl.
1 ¢ ab 3 3c 3ab
1 a bc 1 b ca
Provethat|1 b ca|= (a—b)(b—c)(c—a)Hence deduce|l a bc|.
1 ¢ ab 3 3c 3ab

—3(a—b)(b—c)(c—a)

TCLA



S=EHESI 1 (175, %)

3 -1 2 3x—y+2z=0
11*%HA=G 1 —Omﬁﬁ%o%%,*ﬂﬁﬁﬁﬁﬁ%xfwdw=—9
1 1 3 x+y+3z=6
3 -1 2
Find the inverse matricofA =2 1 —4 |.Hence or otherwise, solve the simultaneous linear equation
1 1 3
3x—y+2z=0
{2x+y—4z= -9,
x+y+3z=6
.
33 33 33
10 7 16
R - = ix=—1Ly=1z=2
B 5
33 33 33
a 1 a’(b+o)
12. A7) EM, B (b 1 b (c+a)|=0
c 1 c*(a+b)
a 1 a*(b+c)
Using the properties of determinant, provethat|b 1 b?(c+a)|=0
c 1 c*(a+b)
6

TCLA



S=EHESI 1 (175, %)

x 1 x+1
13.@ARR]2 x 3 |[=-2x*+11
1 3 -1
x 1 x+1
solve theequation |2 x 3 |=-2x2+11
1 3 -1

2 5 7 1 .
14EﬂA=G 3 4)B=<0 1 1
5 -2 -3 1 0 -1
a) SKEEFE A B EERE
b) #Bltk, KEEFE X

2 5 7
GiventhatA=(6 3 4 |,B =
5 -2 -3

|
= o
O R

a) find the inverse matrix of A

b) Hence, find the matrix X

TCLA

>$DAX=B,

)and AX =B,
-1

1
a)A™l = (—38
27
0
b)x = ( 4
-3

-1
41
-29

0
3
-2

1
—34
24

-2
75
-53



S=EHE1 (175X, %EF)
x+2y+3z=14
15. MAm=WERBHIEN]3x +2y +2z=10
3x+y+2z=11
x+2y+3z=14

Use the Cramer’s Rule to solve the simultaneous equation {3x + 2y + z = 10
3x+y+2z=11

TCLA



